2. Xl £

W o" B o= 20148t S | 20138tES .
Ol st 01l 4 o s2 a4 s a2
2 & = ) (8) (A-8)
o 114,371 110,762 3,609
o 114,371 110,762 3,609
ggaoq 52,644 56,386 -3,742
OEEEY 52,644,000
o0z =2 550,000 12122 6,600,000
4z =2 500,000 12122 6,000,000
62 =2=2(22) 1,643,00081 %22 +122 38,880,000
NADO BEEUE 51,480,002 %3% 1,164,000
g I 52,644,000
ol 29,311 28,799 512
CEERGE 29,311,000
PEPUVE 300,0008! 1 %122 3,600,000
42 HOIZ £50,0008 1 %122 3,000,000
62 40I2(2) 918,0002 %22+ 12 22,050,000
NOoIZ BEEAR 22,050,000+3%#12% 661,000
g 2 29,311,000
s 22,308 16,014 6,294
CESEpIPS 22,308,000
62 =230 193,0008 %224 %122 4,632,000
oE MG 100,0008 2 122 2,400,000
62 B X4Y DESES 226,5002 %22 *1 2% 5,436,000
pJEPE 70,00020%1 25128 840,000

_15_




W oz B o= 20148H4E | 20138HAE .
- Ol st Ol st o) 4 s 2 A
a & = (A) ()
EWT 100,000 %2+ 122 2,400,000
oIk 300,0002+4% x23| 2,400,000
Busy 50,0002+ 128 1,200,000
62 FIIDE2TH(2D) 1,200,000%2% 2,400,000
NERAY NS 21,328,000 +3% 600,000
g I 22,308,000
‘gé‘;g?gg 10,108 9,563 545 10,108,000
CEENE e 7,998,000
Ml AISIZ BERSE 106,632,0002%6.7% 7,150,000
Kl AISIOIZ BE S olaro 106,632,002 +6.7%+7% 500,000
Hel AISOIZ HOHEA BESSZ  106,632,0008 +6.7%+0.0454 325,000
A2 ASAZ THoHE & HEREZ ClA% 106,632,000 *6.7%*0.0454*7% 23,000
WRAANUBEE 2,110,000
Nl AP BEHBLD 106,632,002 *1.69% 1,800,000
MY HUEBE HAEEEZ Ol A H 106,632,0002*1.69%*10% (0t &) 180,000
Nel BIQUPE RS 106,632,00021%0.11% 118,000
MNP HIQUBE HYLLIIAM  106,632,00040.11%+10%(1X) 12,000
g 10,108,000
ifglo%%‘t!l 152,650 337,650 ~185,000
ileléo% " 13,000 54,000 ~41,000
géfﬂgam 1,000 2,000 ~1,000
ORI BIEEPEIT 1,000,000
SYSIESIY 500,000 +1 Al 500,000
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20138tH

=2}
. . . ml((i)ﬂ ou(egr)% o) 4 s 2 A
EEPEE 100,00021%1 A 100,000
HIAS2IEE 22| 200,00081 14! 200,000
INEF AN A 2IH] 200,00081 14! 200,000
g 1,000,000
g;_ram 10,000 50,000 ~40,000
WD X 22Hle 10,000,000
DU X S 22l Hig 10,000,000%! %13l 10,000,000
g 10,000,000
‘_‘tfljg 2,000 2,000 0
CREEEE] 2,000,000
SRIB(EH) SR 2,000,0008113] 2,000,000
g 2,000,000
ﬁE,ZéO% ol 38,950 41,950 ~3,000
éfgﬂm%m 12,000 15,000 ~3,000
CENEEE 2,700,000
AZE 0l FIA BRI 150,00021+63] 900,000
el 0IAS] BAAl EZY] 150,008 %22 +23] 600,000
JIEF EFH| 100,0002 %128 1,200,000
OENEEE 1,200,000
NODSHLEIIAl S| 150,000 x2%4 +43] 1,200,000
WAL DS 3,720,000
oIaX DEH @ FXE 50,0008 %128 600,000
AelXle DEH 2 F=x2 60,00021%12% 720,000
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o3 B o= 2014814 | 20138HEE o
- Ofl b Ol &b 04 (A8) 4 s 2 A
o & = (A) (8)
TOANEH S| 200,00021%122 2,400,000
®OIEHOTH R E | 4,380,000
inES= N T 200,00021%122 2,400,000
DEH A4S L 0RE Y 1,980,000 8 *1 4! 1,980,000
g 12,000,000
;fétz%xml 20,000 20,000 0

WS 14,590,000
zexY 25 800,00021%122 9,600,000
52 3R 200,00024%122 2,400,000
SEH 45 S By 2,590,0002 14! 2,590,000
mxtessel | 5,000,000
zaargslll 500,00024%103] 5,000,000
(ELOI0i &, 2 &, J|Et=2IH])

WA R 360,000
Z B H ] 30,0002 %122 360,000
CpIEL== 50,000
ZENBNILEHIAZALED 50,00021%13] 50,000
g i 20,000,000

fégﬂm 2,500 2,500 0

MAIR A DE| 240,000
gegenz Yyl 20,00021%122 240,000
MEAHSADEY| 540,000
ANSRE BA TRIfS ®AA DR 30,0008 *2CH*4 3| 240,000
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W oz B o= 20148H4E | 20138HAE =2
2 & B Ny " (A-8) “E=
=ADIEH 22| 100,00021%33] 300,000
CEPETEEES 360,000
pensz 10,00021%3+122) 360,000
(2DX, ST, ZHA)
EIIEIARE 1,360,000
g I 2,500,000
gf%wl 1,000 1,000 0
W= AL = 1,000,000
20K H 2t 20,0008 %20 400,000
=004 L EH0AM = 14,00021%20% 280,000
JIEH YR T2 =AY = 320,0008!+1 A 320,000
g 1,000,000
%221” 800 800 0
OESIENY 800,000
omE 9 SIS 666672128 800,000
g 800,000
%fﬁ?gmg 2,350 2,350 0
WHA 222 550,000
SEEPRT E=S Y 300,0002+1 A 400,000
Ty BANERLD 20,0008 %24] 40,000
TENTE 10,0008 14} 110,000
CEEEET 1,800,000
S 0Hst 015l 05| 1,500,000 %14l 1,500,000
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b TR TR S 20148tHE | 20133tHE .
- Ol &b 24 Of &b 24 (:_EB) & s 2 A
2 & = (A) (8)
H®, EL=Xe golaol sl 200,0002 *33] 300,000
g ol 2,350,000
R 300 300 0
CHEESS 300,000
EEPEIETE 25,0002 +12% 300,000
(BOIOI2EH ENGE, SISS=LE)
g 300,000
po 100,700 241,700 141,000
A 3,400 3,400 0
CETELTY] 1,200,000
A2 100,000 * 122 1,200,000
CEESY 600,000
ANEAED 100,0008I+62 600,000
CEPICEEIN 1,600,000
WOl N e ZAKI Y| 100,000 *43] 400,000
OF2AI ¥ AEAY 5,0002%20+12% 1,200,000
g 3,400,000
e 3,300 3,300 0
CEEImEY 3,300,000
nosABY DR 350,0002 *224x33] 2,100,000
tzaol3] MOIL L o4 &It 300,000243] 1,200,000
g o 3,300,000
4233 11,000 34,000 -23,000
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10,000,000& *14]
1,000,000& *1 4]

11,000,000
10,000,000

1,000,000
11,000,000

© &
10
I
™
==

20,000

30,000

-10,000

500,000 123
350,000 123
816,666&+123

20,000,000
6,000,000
4,200,000
9,800,000

20,000,000

4235

SE2H]

5,000

15,000

-10,000

5,000,000& %14

5,000,000
5,000,000
5,000,000

4236
3oyl

48,000

56,000

-8,000

8,000,000& +52]
2,000,000 43|

48,000,000
40,000,000

8,000,000
48,000,000

4238
E |

10,000

100,000

-90,000

10,000,000& *14]

10,000,000
10,000,000
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(e - A Q)
W om B o= 20145HHE | 20138HEE .
- ol 4 o Ol 4 o e o4z 2 A
2 & = (A) (8)
s 500 1,000 ~500
B 500 1,000 500
el 500 1,000 ~500
CEESN 500,000
JlE B 500,000%!*1 A 500,000
g 2 500,000
e 5,300,000| 5,300,000 0
e 5,300,000 5,300,000 0
astt 4,886,857 4,904,812 17,955
ANHEES 886, 904, '
WANHEED 4,886,856,550
S2msD B2y 1,486,316,6502«141  1,486,316,650
220D AT MY (RS S) 3,138,830,00021+1 A1 3,138,830,000
2SR APEL ALY S 261,709,900214 261,709,900
g 4,886,856,550
e msa 084,254 313,048 28,794
OEF LS e 284,254,000
2P0sD RAYNSYS 158,136,0002+1 4! 158,136,000
2PUsD NAYYEYS 126,118,0002%1 4! 126,118,000
g 284,254,000
o s 128,889 82,140 46,749
WRAHED 128,889,450
220E D DEIL LB 128,889,45021%1 A1 128,889,450
g 128,889,450
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W oz B o= 20148H4E | 20138HAE .
- Ol st Ol st o) 4 s 2 A
2 & = (A) (8)
oo 30,000 100,000 ~70,000
é?éloul 30,000 100,000 ~70,000
gﬁ;ﬂul 30,000 100,000 70,000
@l bl bl 30,000,000
st Dol ol 30,000,000 14! 30,000,000
s 30,000,000
el 50,000 50,000 0
S 50,000 50,000 0
T 50,000 50,000 0
ORI ER 50,000,000
DR | OB NE 50,000,000 14! 50,000,000
g 50,000,000
e T = 62,479 1,687,799 -1,625,320
o 0 1,200,000] 1,200,000
W EXHALE 0
0T EX Y S FSOI B2 o4 B8 0
g 0
1J|3)11I43|—_rlﬂHC=’,'HI 5,000 100,000 -95.,000
ORI BN T 5,000,000
BOIALSH JIRH 014 Tt 5,000,00021+1 T 5,000,000
g 5,000,000
[T 5,000 30,000 ~25,000
CEBINEE T 5,000,000
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500,000
500,000
500,000

41,979

256,799

—-214,820

41,979,000& *14]

41,979,000
41,979,000
41,979,000
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AEINAH

10,000

100,000

-90,000

10,000,000 14!

10,000,000
10,000,000
10,000,000

AsXESA

5,710,000

7,587,211

-1,877,211
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